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Abstract

Hong, jung-Ha(1684-7 ) explained 78 problems which look for the length of right
triangle satisfying the given conditions by the Pythagorean theorem or the ratio of
similarity in the chapter ‘Goo-Go-Hoh-Eun-Moon' of the 5th volume of his book
Goo-Ill- Jeep. Most questions are formulated by equations of degree 2, 3, 4 which
mostly have rational number solutions and part of the equations are expressed by
counting stick. The explanation of each question describes the procedure to make the

equation in detail, but only presents the solution with a few steps to solve.
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